UBUNGSKONIG
Nachbarzahlen 4

1. Trage die Nachbarzahlen ein.
Nachbartausender
Vorganger 633 000

Zahl 633 154 437 737
634 000

735 259 154 871 980 753

Nachfolger

Nachbarzehntausender

Vorganger 170 000

Zahl 175707 645 428

537 547 794 478 257 430

Nachfolger

Nachbarhunderttausender

Vorganger
Zahl 275 458
300 000

772 659 133 759 457 068 957 759

Nachfolger

2. Rechne mit verwandten Aufgaben

200 + 600 = 120 + 450 =
6 000 = 1200+ 4500 =
12 000 + 45000 =

2 000 +
20 000 + 60000 =

200 000 + 600 000 =

182 + 560 =
1820+ 5600 =

18 200 + 56 000 =
182 000 + 560 000 =

120 000 + 450 000 =

265 + 700
2650+ 7000
26 500 + 70 000
265 000 + 700 000
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